g
5 .
) x
@© =
> 0
2 DN“
S z
Q2 = —
& L w Ve N >
o b oK Wd 2
z N |Dg 245 2w
O =™ = S |2
> = N N o w O 2
N = [0 <y N & 4
Q Qo ) o 0] M ) S =|=
= 5= D o |=R S ® E
< 85 8 o (=24 wo 3
5 |<|>8 o |¥ (=2 < 2
< 2|9 O] 3 oo = =< ) ©
> |8|ce 8 2olg L Z P = N —
S © O ok =gt e Sla| &
V] 2 ® ,w [SP RN H = = = | = N
~ [O]3D o, ™| 55 = 35 Ol | @
Y |x|ls = S5 2NN 2= o 1S o
w |al|3€ SE8LH|IEN|E S Ec a
) 0 o Z om0 O
g - 2
= <
: S |32z g :
N <
N £ % az|t a 53
Z o wl w > |uw = O | o
= = N O” |R < < ¥ | ©
M @ x> | o e || =
zZ o |E o o i
m |O = a & o
o 00°0T 08455 00°0T 90955
|
I |
[ [
| _
[ [
I [
I _
[ I
[ I
[ [
* _
_ [
[ f
[ _
_ 7
f [
o | 8377 | 6085 | 0T'855 o | .
be) f 5 _ 88'Z | 2€9SS | VE'9SS
1P 88'Z | 60855 | 0T'85S mW. ﬁ . %qm.omm%qm@mm\
67z 1=1po I 6,z Toress ] orass | 0y 0o . . e
S ﬁ % % S [ 05z T859S57 ve'955
[S) 05z ! 62856 | 0T'855 S)
@ Y
- G/T -=-G€'85G— 0T'85G -| b GLT =$9°98G— GE'9GG
o o
¥ 5 ¥ =
=< W0 =0 <
Cm . cm .
- N - 000 -~0€'855— 80'85G | [ (o2} - 000 -~65'955— 6£95G
o QO w o a ©
'S P le IS P le
© o °© o
- /6T~ =¥2'85G— G0'85G -|
&
mu. . . . @ - SP'Z- =TS99G = G'9GG
SCZZI=IP0 - 2,27 =8T'855= ¥0'85G -| % &
V 5 ., L R . 4 . _
; THETZT=0 0Z'€- +~SP'955 = 97'955
- 89'E- =Z€LSG— 20'85G | \ ) )
- 9/ -=68'G5G— 87'95G
- 80~ =2€LSG= T0'8SS -| ) )
S . - 977~ —68'G85— 67955 -
,f - /LY =00'855= 00'85G -| i b /8'v- 15965 = 16956 |
f _
_ [
_ _
_ _
_ [
7 [
7 _
7 _
_ 7
_ 7
_ _
, _
o - L | I 6607 682495 . ——— | | —— 66°0T 657995
<) & @ ~ © @ ~ © o <+
O n n n L n n L n n
Te) o o o n n n n o o
M ) N
g ¢t = £ zm -
— 1o o I~ o
© 3 ko) =
- S ®» 5 @ 0 °c B 5
o w s | 2| 5 ® s g | £ 5
— © o o© e — ™M o o© e
iy o o 2 o )
I I c c c Il I c c c
2 & @ 2 B
= = jol N N = = o N N
O nd o O nd o
002z 64°655 ,:? T 0022 S
/
/
/
/
|
/
/
|
|
[
|
|
|
|
- ¥T'9T =€0'865— £0°85G |
~
- 0£'GT -=29'09G— 29°09G -| Y
- 9LPT 92095 = 99°095 - €8'%T -~06'865— 72855
- GLY =1S09G= 6ET9G | - €87 -=02'655— £2'65G
[Te]
N <
~ «
© -eg=|po o
fHHeese=e - 02 +-26T9G— 09°T9S | 0 —ipo
S < S8 - 877 -=90°09G— E£7'65G
o )
' - 007 =.6T9G— 89'T9G -| ©
' - 8LT =2T095- 05655 |
<+ 8 <+ 8 :
QS £9S
- o - 000 -=T6'T9S = 06'T9G -| = [Te] - 000 -=90°095= 09655 -
N7, o ¥ 7)) o ¥
° o °© o
= - SLT- =98'T9G— 80295 -| 2 - ST -=T0°09S = 0/'65G
"% L > L . 4 . B s L - L . 4 . B
T2567=1p0 SY'Z- +~08'T9G— 9T'Z95 >&67=T60 G2~ +~G6'65G = 77/ 655
- 1670 =82'T9G= TZ'29G -|
- T€'e =60'655— 61655 |
b olv'es =82'T9G = 92295 | 606
- 18'- =60'655— 28'655 |
- 5G%- =9€29G = 9£'29G -| | - 65V = 18'6GG= /8655 |
I
I
[
|
/
I
I
|
|
I
I
y y W y W W T W y 00-0F- 06-295 y y W y T y y W y W y W y 00-0F- 12095
<t [92] o bl =) )] o] © < o (2] o] ~ ©
© © © © © o) [¥o) © © © [Te) [¥o) [To) 7o)
0 0 0 el 0 To) [To] 0 o 0 [To] [To) Tol Tol
M) N P M)
g ¢ 3 £ < 7
n 0 - 5 n o - 5
o N Is} = c 00 ™ o = c
. g o)) o) 5 . o)) o
o o © o 5 o o © o 5
00— o o© e [©) BN o o© e
@ o o) ROy (0] 0}
I I c c c I I c c c
2 % @ 2 &
= pd © N N = e ke N N
O nd o O nd o
L 00:0% 56495 gt 00°0% 13295
I
I
I
I
‘
[
I
I
|
[
[
I
I
_
o - 8L'€ -=9Y'Z9G— 97295
o~ - 8F'E =E6'V9G— £6'795 | 2|
- ol
© 0
o T 8/ /9=|PO - G/'T +ST'E9G— £5°795
T - 057 =65G9G= £0°G95 | N
S @
o - 007 =TZ'€9S - T979S |
' - G/T =G9'G9G— TT'GIG -|
<+ 8 YL
= O = 10
- o - 000 -+~65'G9G— 08595 = © - 000 -=GT'€9G— 28295
S oo o o %
w O _..n_-u N a +
o o o o
b SLT- =1S'G9G = L7695 | ~ \ - ST =0T'€9G— 20°€95 |
S \
=1
P [ =318 (P R
TEZ=P0 052~ -+ 8§95 = 55695 & T Te=o 052 +~¥0'€95 = ZT'€9G
- 08 =T6'79S = 29°G95 | - 206" 25295 = 02'€9S |
- /S =T6'79S = L9695 | - 256 =29'C9G = LZ'€95 |
b2y =92'G9G = 9/°G9G -| - Ob'v- - BE'€9G = 6E'E9S
+ —— +—— —— + 66-6% €995 + —— L —— —— | + 06-6% PEPIS
o] N~ To) < ™ © [T9) <t ™ o ol o
© © © © © © [Te} © © © © ©
L L 0 0 0 0 0 0 0 0 Lo L
M ) ) M)
E ¢ 7 £ ¢ 7
()] — S M~ ()] S
(@) ~ .w = c o © nm = c
. . o)) o 0 . (o)) o
o 0 ® o = M QN © o bt
M S © i) N M S © 2
2 © © 2L © ©
I I c c c Il I c c c
2 B @ 2 & @
= = e, N N = = e, N N
O o o O o h'd
o~ — , — C ©
~ ~ «© , , «©
L0 L0 L [i@] Lo 1@
—— W 00°0T ¥1'695 — | 00°0T 75295
R 5
G| « - S0 - /8'695— /869G - ol 4, - Y0 =10'89G— L0'895 |
517 ‘ B
2 60°0¢ =|po L 057 ~¥2'0/5— T6'69G — A4 1L 80'0¢=|po - 057 --E€F'89G—- TT'895 -
S| S
@ P
- GLT =0€0.5= 96'695 | - GLT =6Y'89G— LT'895
<+ 8 Yo
= ® 3 EQ N
- N - 000 +=¥20.S5= 80°0/5 - - ™ - 000 -=¥¥'89G— T89S
oo - S o m
@ &0 @ Q1O
° o °© o
5 - 002~ =8T'0/G= £2°0/G | - 007" -~8£'89G— /789G |
el
=M. P (R | o). L oeaocd ecaoe |
S55Z=P0 G/'Z- +2T'0LS5= 820.S T55Z=TP0 G/'Z- +~2E€895— £5°895
I I - /Z'e =08195— /5895
| eg'e- L8v6954 98°0/5 ) - /L€ =08195= 19895
d - S9'v- 89895 = 89'89G
* - S8 =E¥0.G= £7°0/G | |
| I
| I
| |
| I
| |
| I
| I
| I
| |
| |
/ |
| I
, 1 B L o i 0001 £6°045 : L AL : o 00°0T- 1695
N - <) o)) @ N~ l S 2] o] N~ ©
N~ N~ ~ © © © ~ ~ © © © ©
Te) el Te) o o o Lo [Te) o o o o
M) N P
E £ . E
© o © o o
- - ge = 2 © ~ 3 = 2
. . o o)) % . o o)) %
(e} €] [0 m pust [e)) < © m o
N 5 | 5 | 9 N~ g |5 2
£ © © @O © o
Il I c c c I I c c c
2 % @ 2 B o
= = o N N = = ko) N N
O o o O o h'd
< ) o — 5 < M N
0 e} e} ITe) Lo Lo Lo
— — — 000 28695 — — 00:0% 84695
- 66'€ -=09°0/G= 09°0/G | - 16 =620.5= 6205
N N n
~— & o
S s
0 b 100 n
p 0g9'¢=|p - 057 F65TLS— 61045 = L 05z +12TLS 8r0L5
1S) 1)
o @
- - GLT =G9T./G— 68°0/G | - GLT =€ETLG— 850/G-
o o
¥ 5 ¥ ©
=89S ER @
- Lo - 000 =09TLG= ZT'T/G | . | - 000 =8ZTLG= T80.S
W [a T N72) o +
© o °© o
- E8T- =¥STLG— GET/G | ) . )
> - 002 =2TTLG= LOT.IG
@ 3
o) 852~ +8V'TLS— SY'T.S =
0L'¢—=IPo [ T T b ] L G)7z- =9T'TJS— /T i
X Te7==Ip0 SL'2- 9T TLS—= LT'T.S
I 80'C- =86'0/G= 2ST/G |
- 89°E- =86'0/G— 85 T/G | b vSe =LE0.5= LTTLG
b Y0 = 1€0.G= E€T/G
b9z =99'TLG= 99°T/G |
b YT =LY TG = L TG
I o | | o —— 6607 6€¢LS . —— | o | . 66-0T 6t¢LS
<+ ™ A - <) & © <+ ™ e o & o)
~ ~ N~ N~ ~ © o N~ N~ ™~ N~ © ©
[To) [To) o Lol o o o) Ln o 0 o Yol Yol
M N N M)
g ¢t 7 £ & 7
o 0 - 5 ~N O - 5
M~ 00 bo) = c M~ (®)) bo) = c
X g o) S . . (o)) o
<+ o © o = M O © o P
N 5 v O - M 9 ° 2
iy o o 2 o )
I I c c c Il I c c c
;% 3 ; % %
= = jol N N = = o N N
O nd o O nd nd
2 N ~ S < N ~ ,
L0 O L - e} @) L
R o \ - 00°0F 55045 | e T | 00°0% 05045
/ /
/ |
/ /
/ |
| |
/ /
/ /
| |
/ /
/ /
/ /
/ /
/ /
/ /
/ /
/ /
2 - 6re +8ETIS— 88 TLS g / . . .
3| 7 g . b OLTE =LETLS= LETIG
) o B[ 7100
foere—=ip - 057 -+S07ZLG—TSTLG - E; G ye—=|P - 057 --28TLS— GV TS
) S
@ P
b OGLT =TT'2LS = TOTLS | - GLT =88 TLG= VSTLS
<+ 8 Y,8
£SO £108
- Tel - 000 =9072.S5= V8'T/S - - o - 000 =€8TLG= 2L T/G-
T Qo M o Q %
'S P + IS P + .h
© o ° o ’
9 - SLT- =002.G= 90°2/G | b ST =LLTLG= 68'T.G
& [ TToT—=P0 - 057 =v6TLG= ST'2/G | % [ TT0r—=1p0 - 097 =TLTLS= 96'T/G -
“ b Y0'E = O0VTLG= 22°2/G | 4 - 667 =2TTLG=T0TLG
- PG = O0VTLG= 82°2/G | - 6v'e =22 TLG= 90°2/G
b YSTY = 0vZLG = 07'2/G | b ovre =9TZLG= 9T'2/G
I bl o R —— . 6607 PEELS . b —— . 66-0T PLELS
o < A - S & < & S &
N~ ~ N~ N~ ~ © N~ ~ ~ ©
[Te) [Te) o el Te) o [Te) Lo Te) o
p] p) N N
E ¢ 3 £ ¢ 3
T9)] ™~ ] N~ [IQ] S
2 5 3| - | 2 0 0 3 | = | 2
R ! o)) o . . (o)) o
00 (@) © o et o] © o] o st
M Al (s © i) M [®) © 2
£ o o £ o o)
I I c c c Il I c c c
2 % @ 2 B @
= = o N N = = e, N N
O o o O h'd h'd




